
Multiplication
Produit

Signe Distance
à zéro Valeur

(+3)×(+7) + 21 +21

(+2)×(−1,2) − 2,4 −2,4

(−1)×(+7) − 7 −7

(−3)×(−5) + 15 +15

× − +

− + −
+ − +

Produit Signe

(−1) négatif

(−1)×(−1) positif

(−1)×(−1)×(−1) négatif

(−1)×(−1)×(−1)×(−1) positif

(−1)×(−1)×(−1)×(−1)×(−1) négatif

Calcul Signe du
produit

Distance
à zéro

−(a×b) - a×b

−(a)×b - a×b

a×(−b) - a×b

Calcul Signe du
quotient

Distance
à zéro

−a

b
-

a

b

−a

b
-

a

b

a

−b
-

a

b

× −3 −2 −1 0 1 2 3 4

−3 9 6 3 0 −3 −6 −9 −12

−2 6 4 2 0 −2 −4 −6 −8

−1 3 2 1 0 −1 −2 −3 −4

0 0 0 0 0 0 0 0 0

1 −3 −2 −1 0 1 2 3 4

2 −6 −4 −2 0 2 4 6 8

3 −9 −6 −3 0 3 6 9 12

4 −12 −8 −4 0 4 8 12 16

https://chingatome.fr

https://creativecommons.org/licenses/by-nc/4.0/deed.fr

